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2. What s the difference between the graphs of = |3x+1| and y =—[3x+1].
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3. What is the difference between the glaphs of ) |?r+l| and y=[3r+1]+4,
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4. The following points (3.5). (-3.-7). (-2.8). (7.-10). and (-3.-9} are onthe function v = f{x) .

‘What will the coordinates be on the function: y = |_f{.r}| ?
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4. The following points (3.5). (-3.-7). (-2.8). (7.-10). and (-3.-9} are on the function v = f{x)
‘What will the coordinates be on the function: y = |_f{.r}| ?
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5. Given each equation on the right, indicate which of the graphs on the right is the corresponding one:
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6. Given each equation, indicate the coordinates of the vertex:
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